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NHM Community Health Officers SET 02

Topic:- NHM_APR22_CHO2

1) On touching a hot liquid, we feel hot. This process by which pain signals are transferred from the periphery to the spinal
cord and to the brain is called

foref) oot yendl ol gt uz &3 onl eer 3 w1E gfaen B g1 68 & Addl @ ufeefta A A 6 55 sz afl¥ase I gierws e s &,
weard [Question ID = 101][Question Description = CHO_APR_2022_MPNHM_P2_Q01]

1. Perception / wrgret [Option 1D = 401]

2. Modulation / szt [Option 1D = 402]

3. Transduction / gsaget [Option 1D = 403]

4. Transmission / gRiBrer [Option ID = 404]

Correct Answer :-

e Transmission / giiBwerer [Option ID = 404]

2) Increasedincidence of Dengue in the month of August or likely to increase in the near future is called

3R @ Il 3 Jo] D g ImIedl a1 o st 3 g ol 6 JHeimaen @ waa 3[Question ID = 102][Question Description =
CHO_APR_2022_MPNHM_P2_Q02]

1. Hospital acquired infection / a=udr 3 Bret Jiwaor [Option ID = 405]

2. Acute infection / diq 3i@sor [Option ID = 406]

3. Chronic infection / Sfivf siagor [Option ID = 407]

4. Emerging infection / 3ere gz [Option ID = 408]

Correct Answer :-
e Emerging infection / 3si iggur [Option ID = 408]
3) An orderly process in the cell that progresses from a state of immaturity to a state of maturity is called
T 3 v wraf¥er gfiprn s srafyaaaar © seren A uftuaanr 6 sven ao aeedl §, weard 3{Question ID = 103][Question
Description = CHO_APR_2022_MPNHM_P2_Q03]
Cell proliferation / @Mt gere [Option 1D = 409]
Cell differentiation / @id! fisigar [Option 1D = 410]
Cell metabolism / @@ g [Option 1D = 411]
Cell function / @I TrI [Option ID = 412]

Hwn

Correct Answer :-
o Cell differentiation / @i Rdies: [Option 1D = 410]

4) A man suffered much injuries from a road traffic accident. The process that is important in minimizing his blood loss
when various injured body structures is called

As® gHicol 3 Uw cAfts © orbl <l o ¥ fafdeer mrrer 91l Azerensil 3t IAD T Y I B Wt Bl Bl wecaguigfgEm
el st [Question ID = 104][Question Description = CHO_APR_2022_MPNHM_P2_Q04]

1. Homeostasis / 2stelselBrt [Option ID = 413]

2. Hemostasis / 2deRw [Option ID = 414]

3. Hemolysis / gaifeiRr [Option (D = 415]

4. Erythropoiesis / eR¥efdeim [Option ID = 416]

Correct Answer :-
e Hemostasis / 3d=eRwx [Option ID = 414]

5) Which of the following connective tissue performs transportation, regulation and protection in the body
Torsotferae 3 A @lar 01 AU Saw okl 3 s, oriqur siiz 3zen wear 3 Question ID = 105][Question Description =
CHO_APR_2022_MPNHM_P2_Q05]

Blood / ¥ [Option ID = 417]

Bone / &%=t [Option ID = 418]

Cartilage / JurFer [Option ID = 419]

Adipose tissue / @t &aw [Option 1D = 420]

Call S

Correct Answer :-
@ Blood / ¥ [Option ID = 417]

6) The endocrine hormones that directly affect erythrocyte production includes all EXCEPT
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3ier: I amiler Sit 2 UleiRIISe IcUIGe!l I YHIerd B &, Jotal el onfdrer ¥ Rrara @p[Question ID = 106][Question Description =
CHO_APR_2022_MPNHM_P2_Q06]

1. Thyroxine / emg3ifrrer [Option ID = 421]

2. Testosterone / &xXRee [Option ID = 422]

3. Corticosteroids / @ifidmizeers [Option ID = 423]

4. Growth hormone / sjer gmitor [Option ID = 424]

Correct Answer :-
e Growth hormone / sjier gwifer [Option ID = 424]

7) Which of the following is located in the medulla of the kidney

Totgo1 3 31 wlol 91 @ Jreall A RFera 3[Question ID = 107][Question Description = CHO_APR_2022_MPNHM_P2_Q07]
1. Glomerulus / scisery [Option ID = 425]

2. Bowman’s capsule / ider dwyet [Option ID = 426]

3. Loop of Henle / cqu siiw 2o1et [Option D = 427]

4. Proximal tubule / gifdrmerer ggeet [Option ID = 428]

Correct Answer :-
e Loop of Henle / T sifw gorer [Option ID = 427]

8) The pineal gland is composed of

diforrer sjfer 3 il areit 3[Question ID = 108][Question Description = CHO_APR_2022_MPNHM_P2_Q08]
. Steroid sensitive cells / 3&rs ARifkea widreE [Option ID = 429]

Pinealocytes cells / diforreirmset wifsrpre [Option ID = 430]

Photosensitive cells / wiAiRifea afdroi [Option ID = 431]

Steroid resistive cells / 33k1s Wil¥ea @ifvrp© [Option ID = 432]

AW N =

Correct Answer :-
o Pinealocytes cells / diforiciRmse @ifdiom [Option ID = 430]

9) The structural and functional unit between two neurons is

3l RRIeA @ i FHFolcdd AR DRIicAD sb1s 3[Question ID = 109][Question Description = CHO_APR_2022_MPNHM_P2_Q09]
Glial cells / semrer 3t [Option ID = 433]
Synapse / sasfere [Option D = 434]

. Neurotransmitter / difrRimmza [Option ID = 435]
. Nodes of Ranvier / 3féaez @ siigr [Option ID = 436]

A wN =

Correct Answer :-
e Synapse / soasferst [Option [D = 434]

10) When deoxygenated blood enters the systemic arterial circulation cyanosis. In Which of the following disorders results in
cyanosis from deoxygenated blood?

Sta sifaRiisror A3 I YuIchisid entoll URitRul ARGHRRT 3 yader &l 3 forge 3f A fpw R 3 sifaeiisior 23 76 A ARGIRRT dar 37
[Question ID = 110][Question Description = CHO_APR_2022_MPNHM_P2_Q10]

1. Aortic stenosis / sigrwIsl @I Jiqae [Option ID = 437]

2. Coarctation of Aorta / #srEmi @I Ao [Option ID = 438]

3. Patent ductus arteriosus / IS &t ewisht aElslt [Option ID = 439]

4. Tetralogy of fallot / ®eile @1 egretistt [Option ID = 440]

Correct Answer :-

e Tetralogy of fallot / Wellc w1 egreifsit [Option ID = 440]

11) A 2 year old boy is admitted in the pediatric medicine ward with fever and diagnosed as urinary tract infection. Which
of the following organism is the most common cause of UTI in children

TP 2 g @ cISD DI GER D AT dIeT RIRDeAT 1S 3 el BRIT SRIT 3R 3 el ATV 3T & AS Ul <Icll  fordarieiRad 3 2t lol AT ST
aedl 3 JE3UIS lol DI AaRd 33 BRI 3[Question ID = 111][Question Description = CHO_APR_2022_MPNHM_P2_Q11]

1. Pseudomonas / Fygitemzt [Option ID = 441]

2. Escherichia coli / sxafifRrn @lelt [Option ID = 442]

3. Streptococcus / ¢ucmia [Option ID = 443]
4. Staphylococcus / ftseirastasar [Option ID = 444]

Correct Answer :-
e Escherichia coli / seafsiRrn wictt [Option ID = 442]

12) A full term newborn did not pass meconium in the first 24 hours. In which disease condition will this occur
e yul 3raf?l @ oiaeird of Uacl 24 el 3 JepifoRier URl oidl fipen w1a fop=t et I Reerfer 3f den[ Question ID = 112][Question Description
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= CHO_APR_2022_MPNHM_P2_Q12]
Intusussception / seczertor [Option ID = 445]

Celiac disease / fiferess 31 [Option ID = 446]
Hirschsprungs disease / f&olzgeat Ja1 [Option ID = 447]
Abdominal wall defect / e &t ¢lar gla [Option ID = 448]

A wWw N =

Correct Answer :-
® Hirschsprungs disease / f&olsyear 3er [Option ID = 447]

13) While performing physical examination of the newborn testis could not be palpated in the scrotum. The failure of the
testis to descend normally through the inguinal canal is called as

ofersile [O19[ bl QIRINGS Sifdl @ IR SDIN I GUUI I FUQl o1&l Bl SII Adr Al IVl oilel A SDIY o HEAHA A ARG WU A ofld
31t 3 frweran @1 war sirer 3[Question ID = 113][Question Description = CHO_APR_2022_MPNHM_P2_Q13]

1. Chordee / @it [Option ID = 449]

2. Epispadias / sifteggemfar [Option ID = 450]
3. Hypospadias / sreiyggmsfar [Option ID = 451]
4. Cryptorchidism / spagauren [Option ID = 452]

Correct Answer :-
e (Cryptorchidism / spguurar [Option ID = 452]

14) The method to be followed while administering two live vaccines at any given time is

opil 8it 19 <1 Shife Eipl @I goniRaa @ FRI 3Uelrs Silel areil fafér 3[Question ID = 114][Question Description =

CHO_APR_2022_MPNHM_P2_Q14]
Mix both and give as one shot / GIail @1 freme 3iiR v oifc @ Fu 3 & [Option ID = 453]
. Administer both simultaneously at different sites / Sleil @I 3IciI-3lerel el W &b el Yo @2 [Option ID = 454]
. Administer both at one day interval / gleil @ o a1 @ sicrRier w yen3rT @3 [Option ID = 455]
Administer both at three days interval / Skl @t ot ot @ 3icrIct w2 yonfT w3 [Option ID = 456]

A WN =

Correct Answer :-
e Administer both simultaneously at different sites / Sloil @I 3rcweI-31cET AR TR TP A YonRKT w2 [Option ID = 454]

15) Pneumococcal vaccine is a
SIgiIpIhel T

Subunit vaccine / Iryfore &1 [Option ID = 457]

Protein vaccine / Qiélar ¢kt [Option ID = 458]

. Conjugated vaccine / 3igfa ctmr [Option ID = 459]

. Recombinant protein vaccine / ger: 3=l giciar <t [Option ID = 460]

2[Question ID = 115][Question Description = CHO_APR_2022_MPNHM_P2_Q15]

AW N =

Correct Answer :-
e Conjugated vaccine / 3igfsar ¢iwmr [Option ID = 459]

16) Which of the following is a rapid reaction of anaphylactic type in a person receiving an immunoglobulin
forgoticiRac 3 A PBlelAT Wb sRplIociIgferol YIH ol dIcl RAfTp 3 Tollibcifded ersu ol MUs feuagrer 3[Question ID = 116][Question

Description = CHO_APR_2022_MPNHM_P2_Q16]

Pain / &g [Option ID = 461]

. Sterile abcesses / ¥rse ¥R1 [Option ID = 462]
Rigors / Rsizat [Option ID = 463]

Cry / 3tem [Option ID = 464]

A wN =

Correct Answer :-
e Rigors / iz [Option ID = 463]

17) Biannual deworming of adolescents is done with which of the following

fp9IRi &I fgaitie Stafifer forvaticiRaa 3i 1 fperas amer &t sirdt 3[Question ID = 117][Question Description =

CHO_APR_2022_MPNHM_P2_Q17]

1. Mebendazole 100mg / adsmicr 100 frcfisger [Option 1D = 465]
2. Adbendazole 100 mg / wsissier 100 Brefioger [Option ID = 466]
3. Mebendazole 400 mg / didssiter 400 firciisger [Option ID = 467]
4. Albendazole 400 mg / vcdsmiter 400 fircfisger [Option ID = 468]

Correct Answer :-
e Albendazole 400 mg / vcdswiter 400 frclisgar [Option ID = 468]

18) A eating disorder in adolescents that is characterized by refusal to maintain a minimal normal body weight are, except
RpolRI 31 Zarel I fIPR RRE IR @ RIsIdd ATHIGA dSlel DI TollT 3ol @ 1T el A FoidR @l 3, REari[Question ID = 118]
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[Question Description = CHO_APR_2022_MPNHM_P2_Q18]
1. Bulimia nervosa / gfet3rm ardi=n [Option ID = 469]

2. Anorexia nervosa / welfdern sdtzm [Option ID = 470]

3. Binge eating / Surer zmen [Option ID = 471]

4. Pica / ficor [Option ID = 472]

Correct Answer :-

® Pica / fim1 [Option ID = 472]

19) A 25 year old man uses condom. Which method of contraception does he follows

g 25 quiid sAfth B3I DI IURIISI Bl 3 a8 IBIoRILD @ [ a3l BI Ulclol Bl 3[Question ID = 119][Question Description =

CHO_APR_2022_MPNHM_P2_Q19]

1. Terminal method / efiferer fafér [Option ID = 473]

2. Barrier method / 3= fafér [Option ID = 474]

3. Hormonal method / smifere fafer [Option ID = 475]
4. Chemical method / Jrmrfers fafr [Option ID = 476]

Correct Answer :-
e Barrier method / 3f%=r fafer [Option ID = 474]

20) Post coital contraception is obtained by using which of the following pill
forgaticiRae 3 A fp1 siict 1 IURIIeT B3D AedRI B dls sniforierd g e sirer 3[ Question ID = 120][Question Description =

CHO_APR_2022_MPNHM_P2_Q20]

1. MALA D / amren €t [Option ID = 477]

2. MALA N / airen wat [Option ID = 478]

3. Micropil / sms@ifter [Option ID = 479]

4. Levonorgestrel / ddmieizge [Option ID = 480]

Correct Answer :-
e Levonorgestrel / dreipizgie [Option ID = 480]

21) Which of the following is Oral abortifacient ?

forgatfciRae 3 A it JiRac seiura 3?[Question ID = 121][Question Description = CHO_APR_2022_MPNHM_P2_Q21]
Levonorgestrol / creieiere [Option ID = 481]

Mifepristone / Bréfgzcier [Option ID = 482]

Ethinyl estradiol / wefisiter veifSaiier [Option ID = 483]

. MALA N / e ot [Option ID = 484]

A WN =

Correct Answer :-
e Mifepristone / Brfi<Ior [Option ID = 482]

22) The onset of first menstruation is called
et Aeart bl 9[H3Ired @l 3[Question ID = 122][Question Description = CHO_APR_2022_MPNHM_P2_Q22]

Menstrual cycle / a3 ewi [Option ID = 485]
. Menopause / JSiifergfer [Option ID = 486]

. Dysmenuria / seadigean [Option ID = 487]

. Menarche / Jsiigefor [Option ID = 488]

A W N =

Correct Answer :-
® Menarche / siigofer [Option ID = 488]

23) What is the age criteria for female sterilisation as per the NHM Guidelines?

wolgaud Gonforgenl @ eIR el sRIEd] & v SIR] Aess =it 87[Question ID = 123][Question Description =
CHO_APR_2022_MPNHM_P2_Q23]

1. Below the age of 49 years and above the age of 22 years. / 49 ad 3 @1 iz 22 ad i 3y 3 sifés [Option ID = 489]

2. Below the age of 30 years and above the age of 20 years. / 30 ad 3 @ siiz 20 ad & sy 3 sifees [Option ID = 490]

3. Below the age of 40 years and above the age of 30 years / 40 ad 31 @1 3z 30 ad <t sy 31 aifées [Option ID = 491]

4. Below the age of 50 years and above the age of 40 years / 50 ad 3 @ 3iie 40 ad 6t 3y 3 aiftres [Option ID = 492]

Correct Answer :-
o Below the age of 49 years and above the age of 22 years. / 49 ad 3 @a 3iiz 22 ad 6t amg 3 siférs [Option ID = 489]

24) Before recommending oral contraceptives for family planning to a 26-year-old women, the community health officer
would look for signs and symptoms of which of the following?

U 26 el Afen @t uRar riser & 1o JiRas sl Brier! bl RIwIR9I @l A usd, AR ¥are iftprRl fogoiiciRaa 3 i fead
I 3R e1grvull & aemor wwen?[Question ID = 124][Question Description = CHO_APR_2022_MPNHM_P2_Q24]
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Dysmenorrhea / wwercda [Option ID = 493]
Anemia / wsftfdrr [Option ID = 494]
Hypertension / 3za 3xbama [Option ID = 495]
. Acne vulgaris / Jmte dsrRt [Option ID = 496]

AN wWwN =

Correct Answer :-
e Hypertension / 3za e [Option ID = 495]

25) Kangaroo mother care is necessary till baby attains a weight of
XY DI dStel Blol A DBoIRs AGT BRAR Sed sl Question ID = 125][Question Description =

CHO_APR_2022_MPNHM_P2_Q25]
1500 g / 1500 syt [Option ID = 497]
2000 g / 2000 spar [Option ID = 498]
2500 g / 2500 syt [Option ID = 499]
3000 g / 3000 s [Option ID = 500]

A W N =

Correct Answer :-
e 2500 g / 2500 spw1 [Option ID = 499]
26) programme deals with training health personnel in basic newborn care and resuscitation.
DRI IIRIET STasIId S 3R Yolsilael I Farea <Rkl @ yfrsivr A Adide 8 [Question ID = 126][Question Description =

CHO_APR_2022_MPNHM_P2_Q26]

Rashtriya Kishor Swasthya Karyakram / ¢RI fipolir Farees @rige [Option ID = 501]
Rashtriya Bal Swasthya Karyakram / 3 arer sarrer wriagt [Option ID = 502]
Surakshit Matritva Aashwasan / 3pfgr argea smearet [Option ID = 503]

Navjat Shishu Suraksha Karyakram / srasid fog] 3Jeen @rigar [Option ID = 504]

AW N =

Correct Answer :-
e Navjat Shishu Suraksha Karyakram / srasrd f919] Jeen wricut [Option ID = 504]

27) Following vaccines are given at birth EXCEPT
Slodl D A forgaafciRad i §u s @ Rari[Question ID = 127][Question Description = CHO_APR_2022_MPNHM_P2_Q27]

BCG / difistt [Option ID = 505]
Poliomyelitis / wferr [Option ID = 506]
Hepatitis B / 3csiea €t [Option ID = 507]
Diphtheria / Rrefi¥err [Option ID = 508]

A wN =

Correct Answer :-
e Diphtheria / fSefifyem [Option ID = 508]

28) A child is said to be fully immunized if child receives all due vaccine as per national immunization schedule within
- year age of child

b a1 Dl Yl a6 A YIeRISA el SIIdl 8 Al ace Pl AR EIpIepUT DPRIGIH D eRIR Wil 31 &d o= &l ----- ad &l 3R @ shier gra ar
s 3[Question ID = 128][Question Description = CHO_APR_2022_MPNHM_P2_Q28]

1. 1/ 1 [Option ID = 509]

2. 2/ 2 [Option ID = 510]

3. 3/ 3 [Option ID = 511]

4. 5/ 5 [Option ID = 512]

Correct Answer :-
e 1/ 1 [Option ID = 509]
29) During pregnancy, gaseous exchange occurs to and from the fetus. This process is called
snsifaven @ SRicl, 3uT A SRARI fforerT dlar 3 591 yfogan ot war siar g[Question ID = 129][Question Description =
CHO_APR_2022_MPNHM_P2_Q29]

Osmosis / 3faliReT [Option ID = 513]

Reverse osmosis / fxmi siemiRer [Option ID = 514]

Diffusion / SupRwifer [Option ID = 515]

Conduction / wsagre [Option ID = 516]

A wWw N =

Correct Answer :-
e Diffusion / BugRuifar [Option ID = 515]

30) During delivery, the overlapping of the skull bones of newborn occurs. This is called as
URId D SiRI6l, oldslid [919] &bl HIuS] i ali¥s:il @I siferevigat (silarciftion) dlar 3 31 war sirer 3[Question ID = 130][Question
Description = CHO_APR_2022_MPNHM_P2_Q30]
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Ossification / sif3iftsaderer [Option ID = 517]
Moulding / aiifeser [Option ID = 518]

. Protruberance / gicg3at [Option ID = 519]
Fontanelles / wiesicat [Option ID = 520]

AN wWwN =

Correct Answer :-
o Moulding / siifégar [Option ID = 518]

31) The muscular wall of the uterus is
arioRT <t Uefier Slar 3[Question ID = 131][Question Description = CHO_APR_2022_MPNHM_P2_Q31]

1. Perimetrium / fsdifczar [Option ID = 521]

2. Myometrium / sRidifczmer [Option ID = 522]
3. Endometrium / gswifczer [Option ID = 523]
4. Ectometrium / waciafeas [Option ID = 524]

Correct Answer :-
® Myometrium / aRldiczE [Option ID = 522]
32) Which of the following is called as the gate keeper of pregnancy
TotgoticiRad 3 31 b1 SRl BI gRUId Pal Siidl 8?[Question ID = 132][Question Description =
CHO_APR_2022_MPNHM_P2_Q32]

Uterus / smterr [Option ID = 525]

Cervix / smifert sffar [Option ID = 526]

. Vagina / =isft [Option ID = 527]

Fundus / ggat [Option ID = 528]

AW =

Correct Answer :-
o Cervix / smiior sffar [Option ID = 526]

33) During antenatal period the blood volume of the woman
yrRrayd smafl @ el aifden @ ¥ &I s [Question ID = 133][Question Description = CHO_APR_2022_MPNHM_P2_Q33]

Increases / et 2 [Option ID = 529]

Decreases / @t @ siedt 2 [Option ID = 530]

Remains the same / et 3& & [Option ID = 531]

Decreases with gestation / a1sf @ Jmrer @reen 2 [Option ID = 532]

A WN =

Correct Answer :-
e |Increases / ggdt 2 [Option ID = 529]

34) An antenatal woman complains of excessive secretion of saliva. This process of excess secretion of saliva during
pregnancy caused due to progesterone and HCG is called

s gRIaydl ARBel Bl R D ATRID I G PIeRIA 3 Qe 3R TaRilsll & Rl spifare @ SRIel cIR @ 3ififs I &l 1 yigan o1
gl Sirer o[ Question ID = 134][Question Description = CHO_APR_2022_MPNHM_P2_Q34]

1. Hyperemesis gravidarum / ssudiRrt sjfasar [Option ID = 533]

2. Ptyalism / emenfeqa [Option ID = 534]
3. Nausea / aerelt [Option ID = 535]
4. Morning sickness / grt: srrazerar [Option ID = 536]

Correct Answer :-
o Ptyalism / erenfea [Option ID = 534]

35) A fifth time pregnant woman comes to the antenatal OPD. Which of the following is an appropriate term that can be
used to describe her pregnancy state

uiedl a1 sniadl aifden delored it 3 el @ fowafeiRaa 3 31 wlol AT U IWRYH 9Ie¢ 3 RRI®T IURIEI IAh! srsifazren o Raufer @1 quier
@0l D ferg fopem s Asar 3[Question ID = 135][Question Description = CHO_APR_2022_MPNHM_P2_Q35]

Multipara / sieéurar [Option ID = 537]

Multi gravida / aiect S|fast [Option ID = 538]

. Grande multipara / sf$ siedturr [Option ID = 539]

. Grande multigravida / 33 arediS|iisT [Option ID = 540]

A wWw N =

Correct Answer :-

e Grande multigravida / s arccigifast [Option ID = 540]

36) An antenatal woman had rupture of membranes at 34 weeks and does not progress to labour, findings reveal

oligohydramnios. Which of the following possible infection can occur
U Yrayd dAfact @1 34 e 3 fRrecil ¢ 3k yRIa ofdl g3, forspd siifcelasgIaioniRT corfar & forsoifciRad 3 31 lat AT Jeifcrd Iiaaror at
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awar 3[Question ID = 136][Question Description = CHO_APR_2022_MPNHM_P2_Q36]

1. Peritonitis / af¥Afsiea [Option ID = 541]

2. Ascites / eR@cat [Option ID = 542]
3. Chorioamnionitis / @if=Neferiensizar [Option ID = 543]
4. Urinary tract infection / gggmef @r 3i@gmr [Option ID = 544]

Correct Answer :-

e Chorioamnionitis / mi&ieleriemsie [Option ID = 543]

37) A 38 weeks of gestation mother with cardiac disease delivered by normal vaginal delivery. Which of the following
medicine has to be administered after the birth of placenta to avoid systemic hypotension and prevent hemorrhage

&I Ie1 A Uifsa 38 s &l spiiciiol dif T YRIa ARG Al YRId FRI 6T SIIdr & YUIIcllsld ISUICorsT A &l 31z IhIa Bl Adol D
fore wRier & Sioar @ arg orafciad 3 3 ®la Al gar & sl enfdg[Question ID = 137][Question Description =
CHO_APR_2022_MPNHM_P2_Q37]

Progesterone / qiaizelter [Option ID = 545]

Prostaglandnin / Qisercigiar [Option ID = 546]

Oxytocin / sife=ficiBer [Option ID = 547]

Vitamin K / Retfder @ [Option ID = 548]

A WN =

Correct Answer :-
e Oxytocin / sife=fidiBer [Option ID = 547]

38) At 37 weeks of pregnancy mother reports of blood stained jelly like secretion. How will you interpret the findings
STHiae @ 37d AArE 3 AT DI I[P A Aol g3MI Sicil SIAT I Slol @ d1R I Udl <qeldl 33U folshul @l IR DA @9l Question ID = 138]
[Question Description = CHO_APR_2022_MPNHM_P2_Q38]

Woman is in early labour / aiféen gd yara dist & & [Option ID = 549]

Woman is having UTI / sifder @ 3tang & ar & [Option ID = 550]

Woman is in second stage of labour / sfger yRia @ g @ur 3 & [Option ID = 551]

Woman is in third stage of labour / afgen yzra @ iz @=ur 3 & [Option 1D = 552]

A w N =

Correct Answer :-
e Woman is in early labour / sifdem gd yera dist 3 & [Option ID = 549]

39) A 50 year old patient diagnosed as hypertension is getting discharged from hospital. All of the following health
education has to be given to the patient, except

3ca wpau @ forcrer arctr 50 avdfr Asht @1 srrudre I gEl B @1 & el o1 aiiiiRaa o1 sisom: il Fare fdren el aIdl & [Question ID
= 139][Question Description = CHO_APR_2022_MPNHM_P2_Q39]

Reduce salt intake / s @1 et @wat @ [Option ID = 553]

Stop tobacco use / daray @1 el of 3 [Option D = 554]

Take medicine regularly / forfr ¥u 3t gar e [Option ID = 555]
Restrict physical activity / omif¥® sIfeififer @ gfemfint @2 [Option ID = 556]

A WN =

Correct Answer :-

® Restrict physical activity / 9mif¥® sifeifdfer @i yferfir @2 [Option ID = 556]

40) While using a metered dose inhaler (MDI) all of the following has to be followed except

e 3ol SolecR (TIASIIS) DI SURIIST D IIRI foldolfciRad Pl Sisd2 sl I urctol fp=n siren =@nide:[Question ID = 140][Question
Description = CHO_APR_2022_MPNHM_P2_Q40]

Shake MDI before use / Su=iisr et 31 U&e wIsME @I f&eme [Option ID = 557]
Coordination with inspiration should be done / 3 31 31T @an aife [Option ID = 558]

Hold the MDI sideways / warsiang @l e @wI uws [Option ID = 559]
Hold breath for 10 seconds / 10 s @ fere i 3@ X [Option ID = 560]

A WN =

Correct Answer :-
e Hold the MDI sideways / waEiag @I o Wl ubs [Option ID = 559]

41) Impairment of heart function due to inadequate blood flow to the heart that is caused due to obstructive changes in
the vessels supplying blood to the heart is called as

& ol b I sigfel 2ol arcll aifdaail 9 sraRIell ulacdocll @5 BRI &6 3 AR 3P YdIs @ PRYI g6 D PRI A d1elr @l 9= Psl Sl 37
[Question ID = 141][Question Description = CHO_APR_2022_MPNHM_P2_Q41]

Vasculitis / ai@mreiter [Option ID = 561]
Peripheral arterial disease / uf¥¢fiI eorell &t diomst [Option ID = 562]

. Ischemia / s=dfrm [Option ID = 563]
. Hypertension / 3za sama [Option ID = 564]

AW N =

Correct Answer :-
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e |schemia / sxfirm [Option ID = 563]

42) A 45 year old man had symptoms of polydipsia, polyphagia comes to the diabetic clinic. Which of the following HbA1c
level of the person indicates that he is diabetic

dfefifsftermn, dici®RrT @ cemr aren v 45 adifa cafte aeEis frfore 3 smar 3 wafts @1 foret 3 A Bla a1 vadiu 1l Far B[ o 3 5
3 aiggdis 3[Question ID = 142][Question Description = CHO_APR_2022_MPNHM_P2_Q42]

Less than 5 / 5 31wt [Option ID = 565]

More than 5.5 / 5.5 31 sifics [Option ID = 566]

More than 6 / 6 31 aifics [Option ID = 567]
. More than 6.5 / 6.5 3 aiférs [Option D = 568]

AW N =

Correct Answer :-
e More than 6.5 / 6.5 3 aiftrs [Option ID = 568]

43) Which of the following is a characteristic of varicella Zoster virus
TorgotferiRad 3 3 RN TN SiR<? arR3A oI fadrudr 3{Question ID = 143][Question Description =
CHO_APR_2022_MPNHM_P2_Q43]

It is cold sensitive / wg 5 Zidgaefier & [Option ID = 569]

It is heat labile / w5 swEif uf¥adf & [Option ID = 570]

It is immutable / @8 smf¥adsita & [Option ID = 571]
Transmitted by Culex Mosquitoes / @Rcia1 a3t g1 Yfte [Option ID = 572]

A W =

Correct Answer :-
e |t is heat labile / =g snff ufsaedf 2 [Option ID = 570]

44) The reservoir of infection of measles is

IRN D IHagevl o Hsk 3[Question ID = 144][Question Description = CHO_APR_2022_MPNHM_P2_Q44]
1. Animals / ag [Option ID = 573]

2. Birds / wgft [Option ID = 574]

3. Humans / smera [Option ID = 575]

4. Fish / swelt [Option ID = 576]

Correct Answer :-
e Humans / amera [Option ID = 575]

45) A 28 year old mother gave birth to a newborn with congenital defects. The mother tested positive for rubella during

pregnancy. Which of the following factor of rubella that causes congenital defects

28 qu @l HF o STodsIId fADICRI dIct olaSIId I Slod [GAT STHIAI T SiRlel A Idcll O feTe UIRIIEd ol eIl Bl foreoliciRad 3 A diel AT
PR® STodsld famierIl @I @Rl gordr 3[ Question ID = 145][Question Description = CHO_APR_2022_MPNHM_P2_Q45]

1. Prevents cell growth / @ifdrer gi @t 3wen & [Option ID = 577]

2. Inhibits cell division / @iérm! fstrster @t 3w & [Option ID = 578]

3. Inhibits meiosis / arfgfifronster a1 Aasar & [Option ID = 579]

4. Prevents cell maturation / @if$rar ufsudraar @t 3w & [Option ID = 580]

Correct Answer :-
® |nhibits cell division / iiS®! f[eirstel @I 3w & [Option ID = 578]
46) Infants below 6 months are immune to mumps due to the presence of which of the following
forgorferiRaa 3 A fpard Suf¥efer & wrRUr 6 Sl A T I D 319 BvsaTen T A yYferfda a1 3[Question ID = 146][Question
Description = CHO_APR_2022_MPNHM_P2_Q46]
IgM / amssitear [Option ID = 581]
IgA / smésite [Option ID = 582]
Maternal antibodies / et ectdfst [Option ID = 583]
Immune system development / yféren yourelt w1 ez [Option ID = 584]

AW =

Correct Answer :-
e Maternal antibodies / diesier éétdist [Option 1D = 583]
47) The contraindications of administration of mumps vaccine is a all of the following except
WUGIICI AT D I D YIIRIal D Yeliolg 9l fovaiieiRad ol Bisme il 3[Question ID = 147][Question Description =
CHO_APR_2022_MPNHM_P2_Q47]

Pregnant women / ssfacdt siizer [Option ID = 585]

Immune compromised patients / xR yferemarer Asft [Option ID = 586]

Severely ill patients / sisfiz 3u 31 €= 3k [Option ID = 587]

Mild obese patients / arezmer Jeet 3sft [Option ID = 588]

HwWw N =
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Correct Answer :-
o Mild obese patients / sreze1 Fefe1 st [Option 1D = 588]

48) In a clinic diptheria vaccine should be stored in
ferciforas 3 f3efif=n & & @1 3 217 fopen siren wnfdg[Question ID = 148][Question Description =

CHO_APR_2022_MPNHM_P2_Q48]

Freezer at -1 degree celcius / -1 f3sft Afcarra w wisz [Option ID = 589]

Iceline refrigerator at -1 to 1 degree celcius / -1 3 1 Ssft AT W 3wzl AHporez [Option 1D = 590]
In refrigerator at 2 to 8 degree celcius / 3figeres 3 2 31 8 f3sff Afcerrr w [Option ID = 591]

In refrigerator at 6 - 12 degree celcius / 3fiERes 3 6 - 12 Zf Aftsrrr uz [Option ID = 592]

AW N =

Correct Answer :-
o [n refrigerator at 2 to 8 degree celcius / ez # 2 3 8 Bsff Afcarrr we [Option 1D = 591]

49) What is the source of diphtheria antitoxin for treatment of diphtheria
Feelifyen & seirer & forg f3eelifsen Géidiftrrot @1 e a=m 8?[Question ID = 149][Question Description =
CHO_APR_2022_MPNHM_P2_Q49]

Pig / 3= [Option ID = 593]

Bovine / sixigft [Option ID = 594]

Horse / ditst [Option ID = 595]
Human / et [Option ID = 596]

A W =

Correct Answer :-
e Horse / @ist [Option ID = 595]

50) In Measles, koplik spots are seen in?

IR 3, Piiterd ered aa &z $a & ?[Question ID = 150][Question Description = CHO_APR_2022_MPNHM_P2_Q50]
1. Prodromal period / qgieret smafér [Option ID = 597]

2. Convalescent period / @wreackiee 3m@fi [Option 1D = 598]

3. Incubation / Ieigaat [Option ID = 599]

4. Eruptive / fewiesws [Option ID = 600]

Correct Answer :-
® Prodromal period / Qigete smafér [Option ID = 597]

51) Which of the following medicine is used to prevent transmission of HIV from infected pregnant mother to new born ?
Jimpfdrd smiardl 91 A oIasiId 3 GTBIEdl @ JTRUT Bl Add D [o1e fovoliciRad 3 3 Blot Il gar oI IuRilel e sirar 8?[Question ID = 151]
[Question Description = CHO_APR_2022_MPNHM_P2_Q51]

1. Lamivudine / dlsfigster [Option ID = 601]

2. Nevirapine / siftRdier [Option ID = 602]

3. Nevirapine / aiftRdier [Option ID = 603]

4. Zidovudine / foSigter [Option ID = 604]

Correct Answer :-
e Nevirapine / aiid3dier [Option ID = 602]

52) Bronchiolitis is commonly seen in which age group?

qifepeaIensie spIdlR UR faper 3R] aef 9t Sar star 37[Question ID = 152][Question Description = CHO_APR_2022_MPNHM_P2_Q52]
6 to 12 yrs / 6 3 12 ad [Option ID = 605]

<2 yrs=""><2 qd> [Option ID = 606]

2-3 yrs / 2-3 ad [Option ID = 607]

All the age groups / 3mit sig asf [Option ID = 608]

A WN =

Correct Answer :-
e <2 yrs=""><2 qd> [Option ID = 606]

53) Which of the type of cancer affects bones, ligaments and muscles?

P31 Yo o1 B i3l TeIrderet iz ARMPIRI @) genfia waar 8?2[Question ID = 153][Question Description =
CHO_APR_2022_MPNHM_P2_Q53]

1. Sarcomas / Jplam [Option ID = 609]

2. Leukemia / =g@firm [Option ID = 610]

3. Lymphomas / fewwrer [Option ID = 611]
4. Carcinomas / @iRfsien [Option ID = 612]

Correct Answer :-
e Sarcomas / Jmwpiam [Option ID = 609]



54) Which of the following symptoms is most characteristics of a patient with a cancer of the lung?
forsoferRaa 3 3 Dlel AT ASUT BB D DR alcl Asil I AR ferep frdraer 3?[Question ID = 154][Question Description =

CHO_APR_2022_MPNHM_P2_Q54]

Air hunger / a1 &t sz [Option ID = 613]

Exertionl dyspnea / ufegpt can [Option ID = 614]

Cough with night sweats / 3 3 uzfior & amer Fi=lt [Option ID = 615]
Persistent changing cough / cpmarR ageredt zizit [Option ID = 616]

A wpNn =

Correct Answer :-
e (Cough with night sweats / 21 3t weiier @ 3mer zi=it [Option ID = 615]

55) Which statement about diabetes mellitus is false?

FeLdNE dAferea @ AR A Dlol AT Dl sred 87[Question ID = 155][Question Description = CHO_APR_2022_MPNHM_P2_Q55]

1. Type 1 diabetes is treated primarily with exercise and meal planning. / T=u 1 FpIE ®I SISl T FU I AR 31 9iisTel Alslell @ I fopen ser &  [Option
ID = 617]

2. Type 2 diabetes commonly occurs in adults after age 40 / crsu 2 aiepis amidlz w 40 ad & 35 & are a=zal 3 alar 8 [Option [D = 618]

3. Anincreasing number of adolescents are being diagnosed with type 2 diabetes / RpoiRi &t agel 3= 3 Ty 2 RPIs DI forarel foven s a1 & [Option ID =

619]
4. Type 1 diabetes usually occurs before age 30 / zru 1 epiE smwri we 30 ad &t 397 3 uzel 3 & [Option ID = 620]

Correct Answer :-
e Type 1 diabetes is treated primarily with exercise and meal planning. / cmu 1 #rediE @1 SclioT T FU I RIP 3112 9fistol Alsterr @ Irer fsen s 8 [Option
ID = 617]

et

it

bR
s

e TV ITR S .
R
. :‘:a\‘.'

1. Mirena / e

[Option ID = 621]

2. Vaginal ring / afSteret fo1
[Option ID = 622]

3. Progestasert / g

[Option ID = 623]
4. Lippes loop / ferw=t g

[Option ID = 624]

Correct Answer :-
e Lippes loop / ferwt g
[Option ID = 624]
57) Tuberculosis surveillance system called “-------=--- ” for both government and private health care facilities
&1 5T foPRGH guirell BRI IR®R! 3k ol Sl Faren ¢wsie JRremsii @ ferg ” " @al sirar 3[Question ID = 157][Question
Description = CHO_APR_2022_MPNHM_P2_Q57]
NIKSHAY / fargrer [Option ID = 625]
SUMAN / et [Option ID = 626]
MUSKAN / georer [Option ID = 627]
RNTCP / smewerclzidt [Option ID = 628]

A wWw N =
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Correct Answer :-

o NIKSHAY / figrr [Option ID = 625]

58) Low height-for-age is known as --------- and is the result of chronic or recurrent undernutrition.

3 & Bama A da Fars o1 @D WU 3 SIlell ST 8 311 U8 YRIel 3T 3idd reudIyur o1 ufeorar & [Question ID = 158][Question

Description = CHO_APR_2022_MPNHM_P2_Q58]
1. Wasting / af3csr [Option ID = 629]

2. Stunting / et [Option ID = 630]

3. Underweight / Jmmea 3t & aeter [Option ID = 631]

4. PEM / didwar [Option ID = 632]

Correct Answer :-
e Stunting / ¥fsr [Option ID = 630]

59) If your BMI is less than 18.5, it falls within the ---------- range
i 3muenl diwesns 18.5 A @ 3§, dl Aag ---------- 3fiemt o sfie= s & [Question ID = 159][Question Description =

CHO_APR_2022_MPNHM_P2_Q59]
Underweight / Jmieer 3t @t asret [Option ID = 633]
Healthy Weight / sazer aster [Option ID = 634]
Overweight / 3iférw aster [Option ID = 635]
Obesity / aiterar [Option ID = 636]

A W =

Correct Answer :-
e Underweight / Jmier 31 @t astel [Option ID = 633]

60) Diabetes mellitus is a group of metabolic diseases characterized by hyperglycemia resulting from ----------
FePIIE Aferea Iurueril AT B1 v J3E & By @ URUIERaReT ld SIEURSCRIBRI HRI aftia fiser 3
[Question ID = 160][Question Description = CHO_APR_2022_MPNHM_P2_Q60]
1. Insulin secretion / $jferer 3@
[Option ID = 637]
2. Insulin deficiency / $3jicrer T @it
[Option ID = 638]
3. Insulin excess / sgfcrer b aiferaser

[Option ID = 639]
4. Eating excess sugar / 3ifir@ ioft arer

[Option ID = 640]

Correct Answer :-
o |nsulin deficiency / 3ot &t et

[Option ID = 638]

61) Operation -------- is a Ministry of Home Affairs (MHA) project to locate and rehabilitate missing children
sifaoret TIIUAl <l I Udl ofellel 3R JoTd> YoIdiA @ felu 3J6 diver (udreae) ol wes uidisien 8] Question ID = 161]
[Question Description = CHO_APR_2022_MPNHM_P2_Q61]

NIKSHAY / Rigrr [Option ID = 641]

SUMAN / 3prr [Option ID = 642]

MUSKAAN / gzt [Option ID = 643]

RBSK / smediwaas [Option ID = 644]

AW N =

Correct Answer :-
o MUSKAAN / gz@met [Option ID = 643]

62) Use of gloves, mask and gown for providing care for all patients to prevent contamination from blood and other body

fluids is called as
b 37 ORI T5 31671 Al UGTell 3 JAGHUI I Aol @ fere 29l ABRIT DI Sxasirer a 1w gamel, ARD 3iR 3186l B IURIIPT DI @l
sirar 2[Question ID = 162][Question Description = CHO_APR_2022_MPNHM_P2_Q62]

1. Airborne precautions / argafad 3 Jmaemsit [Option ID = 645]

2. Barrier Protection / df=re 3een [Option ID = 646]

3. Droplet precaution / 8i<t g 31 Jmaumei [Option 1D = 647]

4. Contact protection / 3u® Fsu [Option ID = 648]

Correct Answer :-
o Barrier Protection / 3= Fzem [Option ID = 646]



63) To obtain consent for surgery from patient the nurse should initially

T A IS D e Il QI Dol D 1e1e, oI DI IR 3 ol anige[ Question ID = 163][Question Description =
CHO_APR_2022_MPNHM_P2_Qé63]

Explain the risks involved in surgery / It 3t onfirer Sif¥eil @1 3wEme [Option ID = 649]

Explain that obtaining consent is routine for all surgery / Jm@sne b it 6B @ e JgafT gra ason e 2 [Option ID = 650]
Evaluate whether the patients knowledge is sufficient to give consent / se=Iicret @3 b @RI BRI Bt SIEIPRL AT Got D e wifa & [Option ID = 651]

Try to find out a witness for consent / gl & o srare distel ©I B9 B2 [Option ID = 652]

A w N =

Correct Answer :-
o Evaluate whether the patients knowledge is sufficient to give consent / Fcaiiaset @3 o5 @ AR I Serprt It Sot @ fore wifa 2 [Option ID = 651]

64) In a single rescue CPR for a child of 12 years of age the compression ventilation ratio should be

ey N

12 o bl 3R] & aed & 1w wover aama HidisnR 3 wegrer ditciort sigquard dion @ifde[Question ID = 164][Question Description =

CHO_APR_2022_MPNHM_P2_Q64]
1. 15:02 / 15:02 [Option ID = 653]

2. 30:2 / 30:2 [Option ID = 654]

3. 10:02 / 10:02 [Option ID = 655]

4. 3:01 / 3:01 [Option ID = 656]

Correct Answer :-
e 30:2 / 30:2 [Option ID = 654]

65) A patient comes to the emergency unconscious, the doctor plans to intubate and start mechanical ventilation for the

patient. Which of the following should be given first while intubating

sarsioAdl I wa Al dBIol b Rearfer 3 sirer 3, Sfae? Asll & feruw scxyde @ Aildfos diceiorel 9Rs a5l i AlSIoll doll WI & $CYAIET DIl HIRT
forgatferRaa 3 A o= JaAY usd &= sirem @nfae[ Question ID = 165][Question Description = CHO_APR_2022_MPNHM_P2_Q65]

ET tube / & =@ [Option ID = 657]

Laryngoscope / cif¥sizata [Option ID = 658]

Atropine / eQiter [Option ID = 659]

. Stillet / Beerdre [Option ID = 660]

AW N -

Correct Answer :-
® Laryngoscope / cif¥siizama [Option ID = 658]
66) Inflammation and reddish discolouration at the Intravenous cannula site indicates
$SIAGIRA ojell ATSC UR YSTal IR <IIct 31 Bl Alctolicpul $P1a war 3[Question ID = 166][Question Description =
CHO_APR_2022_MPNHM_P2_Q66]

Infiltration / $fibeggrer [Option ID = 661]

IV line in situ / Jfe1 ermel W st emset [Option ID = 662]

Subluxation / Jreeraoret [Option ID = 663]

Indwelling / seigfeier [Option ID = 664]

A wN =

Correct Answer :-
e |[nfiltration / sfisegarer [Option ID = 661]
67) A pre-term newborn infant is being monitored for respiratory distress syndrome by a community health officer. Which
assessment symptoms would alert the nurse to the likelihood of this syndrome if they were observed?
Qb AHSIRID AR MRPRI ERI %6l Ide Rigld @ 18 J3T A usd gu odsiid 219] bl eRIsh &l St 38 8 @lel A HcAidol cIgvl, A
q W SIW & dl, ori bl 331 RigIar bl Israen & gfer i w1’ [Question ID = 167][Question Description =
CHO_APR_2022_MPNHM_P2_Q67]

Tachypnea and retractions / 2fpufern sz f¥areret [Option ID = 665]

Presence of barrel chest / fa@e ol &t suldefer [Option ID = 666]

. Hypotension and bradycardia / asuicoRr sz imnsen [Option ID = 667]

. Acrocyanosis and grunting / emQaIRGIRRT 3ii2 sjfocer [Option ID = 668]

AWM =

Correct Answer :-
e Tachypnea and retractions / 2fpufsrn siiz f¥¢aeret [Option ID = 665]

68) The normal axillary temperature of a newborn is between which of the following

SIesIId 1919] @I ArAIe 3181~ Aruerel fordol I A fprds |l giar 3[Question ID = 168][Question Description =

CHO_APR_2022_MPNHM_P2_Q68]

1. 30 to 32°c / 30 3 32 Rt 3feerrr [Option ID = 669]

2. 32.5t0 34 ° ¢ / 32.5 31 34 fsft AR [Option ID = 670]
3. 36.6 to 37.4 ¢ / 36.6 31 37.4 foft Azrrr [Option ID = 671]
4. 40 to 42 ° ¢ / 40 3 42 Rt Afkewra [Option ID = 672]
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Correct Answer :-
o 36.6 to 37.4 c / 36.6 31 37.4 3aft Afczrrx [Option ID = 671]

69) You are assigned with blood pressure (BP) monitoring of patients in your ward. Which of the following patient is not

contraindicated for applying cuff for BP monitoring on right arm?

3MU<hI 3ol arS 3 ARRI & wparu (didl) &I forRel @1 @RI JHiul srn & forefciRad J A wiol AT AT GIfdel s1er UR il Pl foPREl & ko
B celol @ fe1g gfcafere oiél 8?[Question ID = 169][Question Description = CHO_APR_2022_MPNHM_P2_Q69]

1. Patient with intravenous line on right hand / 3k @ cifder arer 31 sic:forr 3z [Option ID = 673]

2. Patient underwent right mastectomy / Jeft @I gIfdell ¥el-3cdcel fdban srI 8 [Option D = 674]

3. Patient has arteriovenous fistula on right arm / Jft @5 Gifger arer w eeeit-fORT fiagen & [Option ID = 675]

4. Patient with saturation probe connected on right thumb / Jeft @ Giidor sisrd W JegRoret fig st g3 & [Option ID = 676]

Correct Answer :-
e Patient with saturation probe connected on right thumb / 3ft & Tifeor s w2 Jcgerct Qi@ st g3u 3 [Option ID = 676]
70) is a fibrous connective tissue that attaches muscle to bone.
Up BIS A Sad 3 Sl ARURRIL I 8331 A Siisdr 8 [Question ID = 170][Question Description =
CHO_APR_2022_MPNHM_P2_Q70]
1. Ligaments / 3oy [Option ID = 677]
2. Cartilage / 3uf¥er [Option ID = 678]

3. Tendons / =1 [Option ID = 679]
4. Collagen / @icrstet [Option ID = 680]

Correct Answer :-
e Tendons / a1 [Option ID = 679]

71) Which of the following part of the human brain has a center for controlling breathing and as well as the sleep wake
cycle?

Hlold ARTSD @ foldolleIRdd 3 A [PA HBI 3 2aRI Bl RIfed Dol & ATA-AT oilg D Uy Pl ORI D0l DI B aldr 87 Question ID =
171][Question Description = CHO_APR_2022_MPNHM_P2_Q71]

. Medulla oblongata / diger sifdierer [Option ID = 681]

Cerebrum / 33ga [Option ID = 682]

. Cerebellum / 33demwt [Option ID = 683]

. None of these / sowt 3t @1 oidf [Option ID = 684]

AW =

Correct Answer :-
® Medulla oblongata / Jigem sifdiorer [Option ID = 681]

72) The Sanjay Sarovar Project is on which river?
IS RIar ulRilsen e ot uz 3?[Question ID = 172][Question Description = CHO_APR_2022_MPNHM_P2_Q72]

Betwa / &ear [Option ID = 685]
Narmada / swefer [Option ID = 686]
Mahi / s [Option ID = 687]
Wainganga / deion [Option ID = 688]

A WN =

Correct Answer :-
e Wainganga / demien [Option ID = 688]

73) Which of the following was the theme selected for World Patient Safety Day 2021 is
frea el Jrem Gart 2021 o et forgsiiciRaa 3 A ol AT frer1 gott srRn 3?7[Question ID = 173][Question Description =

CHO_APR_2022_MPNHM_P2_Q73]

1. Safe elder Health / JaférT g sarzea [Option ID = 689]

2. Safe mental health / Ffée smeil¥3cp Fawe [Option ID = 690]

3. Safe adolescent health / 3pfér fpolz Farea [Option D = 691]

4. Safe maternal and newborn care / 38K ag wd oraeirT gz [Option ID = 692]

Correct Answer :-
e Safe maternal and newborn care / JRf& 7Irg vd o gxere [Option ID = 692]

74) Which of the following date is observed as World Pneumonia Day?
forgarfciRaa 9 A fopw feafdr @1 fora fornforn fRawr @& wu i AN sirar 3?[Question ID = 174][Question Description =

CHO_APR_2022_MPNHM_P2_Q74]
September 12 / 12 f3rdaz [Option ID = 693]
October 12 / sracar 12 [Option ID = 694]
November 12 / srdaz 12 [Option ID = 695]
December 12 / &3tz 12 [Option ID = 696]

AN wN =
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Correct Answer :-
o November 12 / sdaz 12 [Option ID = 695]

75) Who is the current Minister of Rural Development & Panchayati Raj of India?

3R @ SYfivT faeprT Sz UaRiedt 2rst Jicft adaer i @lat 37[Question ID = 175][Question Description =
CHO_APR_2022_MPNHM_P2_Q75]

Shri Giriraj Singh / of Biferst Bis [Option ID = 697]

Shri Pralhad Joshi / gft years Siteft [Option ID = 698]

Shri Raj Kumar Singh / off st ot iz [Option D = 699]

Shri Anurag Singh Thakur / off srzer Big a1z [Option ID = 700]

AN wWw N =

Correct Answer :-
e Shri Giriraj Singh / off Bifsarst RBig [Option ID = 697]

76) Which of the following is correctly matched?

forgotieiidae 31 31 il AL A Jia fevar g3 &7

List 1/ 3T 1 List 2 / =T 2
1. Bharatnatyam / " a) Kerala /
2. Kathak / b) Andhra Pradesh/
HYH iy e
3. Kuchipudi / c) Tamil Nadu/
4. Kathakali / d) Uttar Pradesh /
B! TR W™

[Question ID = 176][Question Description = CHO_APR_2022_MPNHM_P2_Q76]
1. 1-¢,2-d,3-b,4-a/1-¢,2-d,3-b,4-a

[Option ID = 701]
2.1-a,2-d,3-b,4-¢c/1-a,2-d,3-b,4-¢

[Option ID = 702]
3.1-a,2-b,3-¢,4-d/1-a,2-b,3-¢,4-d

[Option ID = 703]
4, 1-d,2-¢,3-a,4-b/1-d,2-¢,3-a,4-b

[Option ID = 704]

Correct Answer :-
e 1-¢,2-d,3-b,4-a/1-¢,2-d,3-b,4-a

[Option ID = 701]

77) Most of us use in addition to words when we speak includes
SIel &1 dleld & ol & J1 3 ATEIPI9N 9IGl T IeTrar @I IwRIET D g Question ID = 177][Question Description =

CHO_APR_2022_MPNHM_P2_Q77]

1. Words and gestures / 9reg 3iiz grasma [Option ID = 705]

2. Gestures and body language / srasia 3iiz 981z <t smmur [Option ID = 706]
3. Body language and posture / 9rks &t smmur 3iR g1 [Option ID = 707]

4. Posture and eye gazing / #gy 3ii? sifx1 &t cwewon [Option 1D = 708]

Correct Answer :-
e Gestures and body language / srasma siis 9Riz &t srar [Option ID = 706]

78) The Unclarified assumptions in communication can lead to and
AR 3 AUTS LRUIG AR @I Sled ¢ Al 3[Question ID = 178][Question Description =

CHO_APR_2022_MPNHM_P2_Q78]

1. Premature evaluation, Poor listening / wryd Fc=iicet, FRME Joterl [Option ID = 709]

2. Lack of planning, Physical barriers / ziiston @t srsir, sifers areme [Option D = 710]

3. Information overload, Selective perception / 3@en 3ifepIR, TrRIens arun [Option ID = 711]
4. Confusion, Misunderstanding / s, skcrawssit [Option ID = 712]

Correct Answer :-
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e Confusion, Misunderstanding / a1, sicrawasit [Option ID = 712]

79) communication is a branch of nonverbal communication that refers to the ways in which people and
animals communicate and interact via the sense of touch.

AR Jy9nfegm HaR bt b onzr 3 Sil Iol dasidl @) IAchia war 3 rad aler iz Sierar Fuef &I siraenr o amerer A
Jarg 3z qraciia @d & [Question ID = 179][Question Description = CHO_APR_2022_MPNHM_P2_Q79]

1. Haptics / &fterat [Option ID = 713]

2. Body language / 9RIz &t smrar [Option ID = 714]
3. Gestures / gmasma [Option ID = 715]

4. Prosody / gqeiEl [Option ID = 716]

Correct Answer :-
e Haptics / 3ftcaat [Option ID = 713]

80) All are physical barriers of communication, except
dar @ el siifered srarier 3, Rrara[Question ID = 180][Question Description = CHO_APR_2022_MPNHM_P2_Q80]
1. Noise / oz [Option ID = 717]

2. Attention / e [Option ID = 718]

3. Climate / sierarg [Option ID = 719]

4. Faulty Devices / giugui 3umzur [Option ID = 720]

Correct Answer :-
e Attention / earer [Option ID = 718]
81) When communication enhances the interaction of learner ,it is
Sl IR f91et1ell bl siet:fpR @l agler 3, dl As 3[Question ID = 181][Question Description =
CHO_APR_2022_MPNHM_P2_Q81]

Physiological / emif¥® [Option ID = 721]

Psychological / seiid=znfors [Option ID = 722]

Artistic / wemearm [Option ID = 723]

Transient / giftras [Option ID = 724]

A WN =

Correct Answer :-
e Psychological / sehdsnfors [Option ID = 722]

82) A 15 year old child is diagnosed as chronic pyelonephritis. Which of the following condition can develop secondary to

the disease condition
ub 15 o @ o= Pl Qi UrscllolBIsic Pl olclol oI SIiel 8 fotdol 3 2 lol 2l Rerfel 5T i Freufel D fe1u (&ediRip DRI 3l Al

3[Question ID = 182][Question Description = CHO_APR_2022_MPNHM_P2_Q82]

1. Blindness / siemuet [Option ID = 725]

2. Deafness / ggauer [Option ID = 726]

3. Hypertension / 3a spama [Option ID = 727]

4. Congenital heart disease / Siesreira g et [Option D = 728]

Correct Answer :-
e Hypertension / 3za s [Option ID = 727]

83) Which of the following is administered as supplement by adolescent health programme

forgaiferiRaa 3i 31 Rl [p9llk FarRe: BRIGE £RI g & U 3 genla fosan srar 3[Question ID = 183][Question Description =

CHO_APR_2022_MPNHM_P2_Q83]

1. Calcium / dfegrmr [Option ID = 729]

2. Albendazole / wedswiet [Option ID = 730]

3. Iron and folic acid / smrer iz wifers el [Option ID = 731]
4. Zinc supplement / fis ggep [Option ID = 732]

Correct Answer :-
e |ron and folic acid / amret 3k wiftrs el¥s [Option ID = 731]

84) Under Integrated Child Development Service (ICDS) the target beneficiaries are except

bl dIel PRI ar (EAISie) @ sideia DI Bisp diér el 3[Question ID = 184][Question Description =
CHO_APR_2022_MPNHM_P2_Q84]

1. Children below 6 years / 6 ad 31 @1 33 @ a=a [Option ID = 733]

2. Pregnant and lactating women / stsfacdt i Jaeturer as2rat arcft #ifgems [Option ID = 734]

3. Women in the age group of 15-44 years / 15-44 ad @ amg aef &t #Afdeme [Option ID = 735]

4. Both Adolescent girls and boys / ez ersitsai siiz es® Sl [Option D = 736]
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Correct Answer :-

e Both Adolescent girls and boys / fpeite ersfipen iz e Siail [Option ID = 736]
85) ldentify the logo

cilell @l ugdIcl

Towrards a new davm

[Question ID = 185][Question Description = CHO_APR_2022_MPNHM_P2_Q85]
1. Kishori Shakti Yojana / fibolidt oItp iston
[Option ID = 737]
2. Mission parivar vikas / {99l ul¥ar faorRt
[Option ID = 738]
3. Shishu Vikas Yojna / f9rg] firprt <fisen

[Option ID = 739]
4. None of these / sorl 3 @I o1dt

[Option ID = 740]

Correct Answer :-
e Kishori Shakti Yojana / fipolidt oIfth disien

[Option ID = 737]
86) which of the following schemes or programs comes under Ministry of Women and Child Development except
forsorferRaa 3 3 Bl 2l AlSlell AT BRI Al Td ard f&bRI Jqier™ @ sideia smar 8 Brar[Question ID = 186][Question Description =
CHO_APR_2022_MPNHM_P2_Q86]
1. Ujjawala / 3soraer [Option ID = 741]
2. Anemia Mukt Bharat / wefifdrr b ee [Option D = 742]
3. Integrated Child Development Services(ICDS) scheme / udbid el fd®rRt 3ar (smsisies) Asten [Option ID = 743]
4. Poshan Abhiyan / diaor aifdrmer [Option ID = 744]

Correct Answer :-

e Anemia Mukt Bharat / wsilférr gep amer [Option ID = 742]

87) Under Pradhan Mantri Surakshit Matritva Abhiyan, A safe motherhood initiative focus on women in which trimester of
pregnancy?

yenet Jidl IRME Aged ifiRIeT @ sideld, ua JRMSA Agea Usd snifazen @ foa REndl 3 aifgarsii uz Biga 8?[Question ID = 187]
[Question Description = CHO_APR_2022_MPNHM_P2_Q87]

1. First and second trimester / ugcit iz gl femmgl [Option D = 745]

2. Second and third trimester / gt sii dierd et [Option ID = 746]

3. Second trimester only / @ae gt fepm@t [Option ID = 747]

4. Third trimester only / @aer diz@t et [Option ID = 748]

Correct Answer :-

e Second and third trimester / gzt 3iiz et fepndt [Option ID = 746]

88) Which of the following Yojna emphasis on setting up new institutes like AlIMS and upgradation of existing Government
medical college institutions.

forgotieridad 3 3 il Al AlSIoll GFA S 61T ATATell Bl FeUGIT 1R AlSIGT FRBRI ATSdel BicksI AFelell @ Ioorlel UR SR Sedl 3 [Question ID
= 188][Question Description = CHO_APR_2022_MPNHM_P2_Q88]
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Pradhan Mantri Jan Arogya Johna / gerewic] St siR¥ser 2iisient [Option ID = 749]

Pradhan Mantri Jan Dhan Yojna / qereridt Stot et 2ison [Option ID = 750]

Bhartiya Jan Ashudhi Yojna / smeciter Ster aigjfis =istenr [Option ID = 751]

Pradhan Mantri Swasthya Suraksha Yojana / geremic} saresr e Asten [Option ID = 752]

AN wWwN =

Correct Answer :-
o Pradhan Mantri Swasthya Suraksha Yojana / germemid} Farser et Asten [Option ID = 752]

89) What is the criteria for classifying the states as low performing states (LPS) and high performing states (HPS) under
JananiSurakshaYojana ?

SToloil LRSI AlSTell O diad AL DI folFol Yg9iol Bl dlcl Al (TeTtind) 3R 3T Ygoiol Dol dlcl Asdl (TIUITA) D WU 3 golichd Dol B
fe1e @=n amacs 87[Question ID = 189][Question Description = CHO_APR_2022_MPNHM_P2_Q89]

Based on the institutional delivery rate / JizemsrT yara g2 @ amemR w2 [Option ID = 753]

Based on Maternal mortality rate / 1] 9cg &2 @ 3maR @ [Option ID = 754]

Based on Infant mortality rate / 19] 7icg g3 @ ameme we [Option ID = 755]

Based on neonatal mortality rate / s/@eirT 37g &2 @ 3mR w [Option ID = 756]

A wWwN =

Correct Answer :-
e Based on the institutional delivery rate / J¥eBKr Yera g2 @ ameR @ [Option ID = 753]

90) ldentify the device shown below
oiil fewas s1e Farsa ol usdret

[Question ID = 190][Question Description = CHO_APR_2022_MPNHM_P2_Q90]
1. Neb diluter / ot sEqez

[Option ID = 757]

2. Humidifier / gfiisfbes
[Option ID = 758]

3. Spacer / Iw

[Option ID = 759]
4. Moisture holder / 3fsemr Bics2

[Option ID = 760]

Correct Answer :-
e Spacer / 3R

[Option ID = 759]

91) Indicators such as birth rate, death rate and natural growth rate etc., that are compiled by the ministry of health and
family welfare is called as

AR 3R URKAR BT HGIeRI SRI HDIeId Slod €2, I3 &2 3R YInied PR 62 i Skl Addawmi ol @l Siidr 3[ Question ID = 191]
[Question Description = CHO_APR_2022_MPNHM_P2_Q91]

Population statistics / Seriz=n @ sifes [Option ID = 761]

Vital statistics / sigcagui sifes [Option D = 762]

. Essential statistics / amagern 3ifass [Option ID = 763]

. Demographic statistics / SeriiRcebrr siiass [Option ID = 764]

A wWwN =

Correct Answer :-
e Vital statistics / srsrayuf siffios [Option ID = 762]



92) Which of the following is considered by demographers as one of the best indicators of the country’s level of
development and of the overall health status of the population

SIORIIR&I®G SRI forsaifcii¥ad 3 A 61 I & BRI & Faz 3IR SRR &bl A0 Fared Reufer & Jdisr Jdddaanl 3 A uas Alell Sidr
3[Question ID = 192][Question Description = CHO_APR_2022_MPNHM_P2_Q92]

1. Literacy rate / Jmsrer g2 [Option ID = 765]

2. Reproduction rate / ggiotel g2 [Option ID = 766]

3. Life expectancy rate / Sfiaer yemar g2 [Option ID = 767]

4. Sex ratio / fefor arequr [Option ID = 768]

Correct Answer :-

e Life expectancy rate / Sfider geemon &2 [Option ID = 767]

93) The number of deaths under one year of age occurring among the live births in a given geographical year during a
given year, per 1000 live births occurring among the population of the given geographical year during the same year is
Iep2il fGu o1u silslifcres ad d b2l I$U a1w aul @ givlol Siiferd Stodl d Uap oo A @ 3R] I Blol arell Hidl &bl e, IRl ad & SRIel [$U /g
sfisiifcied aul I STelieT 31 dlol arct Yica 1000 Shfae Stodil i A= & [Question ID = 193][Question Description =
CHO_APR_2022_MPNHM_P2_Q93]

1. Maternal mortality rate / s 3 g2 [Option ID = 769]

2. Adolescents mortality rate / fopeiz g g2 [Option ID = 770]

3. Infant mortality rate / forg] 9eg g2 [Option ID = 771]

4. Preschool mortality rate / Remsamt @ gd 9cg &2 [Option D = 772]

Correct Answer :-
e Infant mortality rate / foig] a;cg &2 [Option ID = 771]

94) If 100 infants deaths are recorded in a place where there are 4000 live births in that year then the infant mortality

rate will be

afe 321 adf 3 Ferrel uz 100 fAr913ii @i ey TSt DI St & ar 19195 Iy 52 deii[Question ID = 194][Question Description =
CHO_APR_2022_MPNHM_P2_Q94]

1. 25 / 25 [Option ID = 773]

2. 21.7 / 21.7 [Option ID = 774]

3. 20/ 20 [Option ID = 775]

4. 22.7 / 22.7 [Option ID = 776]

Correct Answer :-
e 25/ 25 [Option ID = 773]

95) The sample registration scheme (SRS) is the main source of information on:

3uer AerRe¢orel Rapdl (TA3REA) el o I3 IJid a:[Question ID = 195][Question Description =
CHO_APR_2022_MPNHM_P2_Q95]

1. Morbidity rate / 3= sz Isdfa 3= @ Fovrn [Option ID = 777]

2. Fertility rate / I 3z g, 3R W Ygiotal gwicn [Option ID = 778]

3. Mortality rate / I 3R i X1 @t geg a2 [Option ID = 779]

4. Birth rate and death rate / I=a 3R ICERI IR W Yeorwel ik ey &2 aeii [Option ID = 780]

Correct Answer :-

e Birth rate and death rate / 3= iz It ¥ W Yoot 3l 7y &2 ateil [Option D = 780]

96) In a given population the number of deaths due to cancer per 100 total deaths is called as

opii <1 o18 STorRieaT & yfer 100 et Aidl H DR A ol arcil Hldl Dl I paciredl 3[Question ID = 196][Question
Description = CHO_APR_2022_MPNHM_P2_Q96]

1. Case fatality rate / @3 gcg gz [Option ID = 781]

2. Proportional mortality Ratio / smeuifer 3cg 52 [Option ID = 782]

3. Crude death rate / g3y a2 [Option ID = 783]

4. Survival rate / Sftaet g2 [Option ID = 784]

Correct Answer :-
e Proportional mortality Ratio / smouifcs aeg g2 [Option ID = 782]

97) The number of new cases occurring in a defined population during a specified period of time is useful for taking which

of the following action
uop foif2d 3raf?r @ Sikiel ueb fo19lfRa stiact 3 glol drcl ole AHell ol I forsifeiRad 3 A @lol A1 BRI @l @ fere urieil 3 Question ID =

197][Question Description = CHO_APR_2022_MPNHM_P2_Q97]
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To control disease / 31 foriqur @ fére [Option ID = 785]

To immunize the population / SeRR=E P dwmul w2l @ e [Option ID = 786]

. To assess the mortality rate / 7cg g2 I simetol @l d fae [Option D = 787]

. To meet the sanitary needs / Jacoel Jitlt Swadl @I g1 w2el @ ke [Option ID = 788]

AN wWwN =

Correct Answer :-
e To control disease / I foriqur @ fere [Option ID = 785]

98) Which of the following programm is launched to reduce incidence, mortality, morbidity and disability due to Burn
Injuries

ToteoticIi¥aed 3 A Dol AT PRIGHA Sictol DI AIC] B PRYI Blol dIcTl OIS, e G2, FIUIAI IR fADcTiordl DI DA Dl B fe18 s b SR
3[Question ID = 198][Question Description = CHO_APR_2022_MPNHM_P2_Q98]

National program for Burned patients/ it gg IRl @ fere et wrfagsr [Option ID = 789]

National programme for prevention of burn injuries / Sicor &t =iict & Jmena @ fore Icda drRIipa [Option ID = 790]

National project for Burn patients / Siet gg AR @ fee I ul¥lson [Option D = 791]

None of these / sai 31 @I oidt [Option 1D = 792]

A wWwN =

Correct Answer :-
e National programme for prevention of burn injuries / Siclor & @ici @ e D fee I DR [Option ID = 790]

99) Disease control measures are generally directed at all of the following EXCEPT?

o1 ORI & IURI 31191 dlR WR foraifeiRaa ol sism: Wil ur BréiorE aid 37[Question ID = 199][Question Description =
CHO_APR_2022_MPNHM_P2_Q99]

Eliminating the reservoir / $isr @I e won [Option ID = 793]

Eliminating the vector / dacz @t Zawn wan [Option ID = 794]

Eliminating the host / uf¥ar® @1 Fca w2 [Option ID = 795]

Interrupting mode of transmission / gz @ i1 3 amen sictel [Option ID = 796]

A WKN =

Correct Answer :-

o Eliminating the host / uRarw @1 3w @wen [Option ID = 795]
100) Which of the following is correctly matched?
TotgaticIi3ad 31 A @il ABI A I fop=r g3 37

[Question ID = 200][Question Description = CHO_APR_2022_MPNHM_P2_Q100]
1.

2.
3.

4.

List 1/ 9@l 1 List2 /¥ 2
A, Coronary artery disease / . Mammography /
PRI YA =T BRIV
B. Diabstic mellitus / . CT/
g Ak i
C. Stroke / . HBA1C/
@m- HBA1C
D. Breast cancer { . ECG/
T FOY St

A-4, B-3, C-2, D-1 / A-4, B-3, C-2, D-1

[Option ID = 797]
A-3, B-2, C-1, D-4 / A-3, B-2, C-1, D-4

[Option ID = 798]
A-2, B-1, C-3, D-4 / A-2, B-1, C-3, D-4

[Option ID = 799]
A-4,B-2, C-3, D-2 / A-4, B-2, C-3, D-2

[Option ID = 800]

Correct Answer :-
e A-4,B-3,C-2,D-1/ A-4, B-3, C-2, D-1

[Option ID = 797]
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